Quiz 23 Selected Questions:
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3_ Calculate the area of the region bounded by: r = 20 cos (E":], r=10 CDSI:H} andtherays § =0and # = T
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4 Which of the following integrals will represent the area outside r = 7, but inside r = 14 sin (E:] 7
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Which of the following represents the area inside r = 4, and between the lines § = 7 andr =2 SCG(E?}?
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6_ Which of the following represents the area inside the innerloopofr=2 - 4 sin(ﬂ}? B- = D > r = ;1 -0 = 2
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7. Which of the following represents the area inside one petal of r = ] Sin[.?- 6'}'?
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8_ Which of the following represents the area interiortoboth r = 8 — 8 Sin[:ﬁ'} andr=§ Sin! E}'?
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10 Find the lengthof r = 2 s from 8 =0to E—_
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